Punnet Squares
1. What would the offspring be if a rancher breeds a heterozygous Black Angus bull with a homozygous Black Angus heifer?  (B= Dominant homozygous black, b= recessive black=red)

	
	

	
	








2. If a ranch has a Recessive horned Black Angus bull and wants to breed to his replacement heifers that are Heterozygous polled Red Angus heifers, What would their offspring look like? (B= dominant black, b=recessive for red) (P=Dominant Polled , p=recessive horned)
	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	


 

